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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ (¸ÛÛ×̃ ÛéýÛ) ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé.  
Instructions :  All five questions are compulsory. 

    (2) ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé.  
     Options are internal 

    (3) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ ÍÛ×”ýÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
     Figures to the right side indicates full marks. 

    (4) Ü¼Û¶Û›÷ÄõÁõà ÅÛÛ×¼Ûä ÅÛ”ÛÛ¨Û “ÛÜ©Û •Û¨ÛÛÉÛé.  
     Unduly lengthy answer will be considered discredit. 
 

1. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé ƒ 10 
  (i) ËÛà þéùÈÛé¶®ù¶Ûä× ÈÛé¸ÛÛÁõ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõýÛÛÙ ¸Û™öà¶Ûä× ©ÛÛ. 31-03-2012¶ÛÛ ÁõÛé›÷¶Ûä× ïõÛ˜Ûä× ÍÛÁÈÛíéýÛä× 

¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. ïõÛ˜Ûä× ÍÛÁõÈÛíéýÛä× …¶Ûé ÐüÈÛÛÅÛÛ…Ûé ¸ÛÁõ¬Ûà ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé ©ÛíéýÛÛÁõ ïõÁõÛé.  
ËÛà þéùÈÛé¶®ù¶Ûä× ©ÛÛ. 31-3-2012¶ÛÛ ÁõÛé›÷¶Ûä× ïõÛ˜Ûä× ÍÛÁõÈÛíéýÛä× 

Áõïõ¾Û Áõïõ¾Û ŠµÛÛÁõ ¼ÛÛïõà…Ûé 
(`) 

›÷¾ÛÛ ¼ÛÛïõà…Ûé 
(`) 

Š¸ÛÛ¦ø 9,000 ¾Ûæ¦øà 1,00,000 
¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¾ÛÛ× ºõÛÇÛé     3,000 ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø 47,000 
¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¶ÛÛ ÁõÛéïõÛ¨ÛÛé 
¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ 

40,000 ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¶ÛÛ ÁõÛéïõÛ¨ÛÛé¶Ûä× ÈýÛÛ›÷ 
ÈÛé¸ÛÛÁõà…Ûé 

4,000 
45,000 

(©ÛÛ. 31-03-2012) 
ºõÜ¶ÛÙ˜ÛÁõ …¶Ûé Üºõ“˜ÛÍÛÙ 

65,000 
15,000 

¾ÛÇéÅÛ ÈÛ¤øÛÈÛ 
ÉÛïõ¾Û×þù ÅÛé¨ÛÛ×¶Ûà ›Ûé•ÛÈÛÛˆ 

500 
2,500 

¸Ûé¤ø¶¤ÕøÍÛ 60,000 ÈÛé¸ÛÛÁõ”ÛÛ©Ûé 71,100 
•ÛóÛÐüïõÛé 70,360   
…Û¸ÛéÅÛ ÈÛ¤øÛÈÛ 400   
Í¤éøÉÛ¶ÛÁõà ”Û˜ÛÙ  100   
ÍÛÛ¾ÛÛ¶ýÛ ”Û˜ÛÙ  1,000   
¸Û•ÛÛÁõ  6,000   
–ÛÛÅÛ”ÛÛµÛ 240   
 2,70,100  2,70,100 

   ÐüÈÛÛÅÛÛ : 
   (1) ©ÛÛ. 31-03-2012¶ÛÛ ÁõÛé›÷ Í¤éøÉÛ¶ÛÁõà Í¤øÛéïõ ` 50 ¶ÛÛé ™öé.  
   (2) ©ÛÛ. 01-10-2011 ¶ÛÛ ÁõÛé›÷ ` 5,000 ¶Ûä× …×•Û©Û ïõ¼ÛÛ¤ø µÛ×µÛÛ¾ÛÛ× ÅÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈýÛä× 

Ðü©Ûä×, ›÷é¶Ûà ¶ÛÛêµÛ ïõÁõà ¶Û¬Ûà.  
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   (3) þéùÈÛÛþùÛÁõÛé¾ÛÛ×¬Ûà ` 360 ¾ÛÛ×¦øà ÈÛÛÇÛé …¶Ûé 5% ÅÛé”Ûé ÉÛïõ¾Û×þù ÅÛé¨ÛÛ×¶Ûà ›Ûé•ÛÈÛÛˆ ïõÁõÛé.  
   (4) ºõÜ¶ÛÙ˜ÛÁõ ¸ÛÁõ ÈÛÛÜÌÛÙïõ 10% –ÛÍÛÛÁõÛé •Û¨ÛÛé.  
   (5) …×•Û©Û ”Û˜ÛÙ¶ÛÛ ` 200 ÍÛÛ¾ÛÛ¶ýÛ ”Û˜ÛÙ ”ÛÛ©Ûé ŠµÛÛÁéõÅÛ ™öé.  
   (6) ¾Ûæ¦øà ¸ÛÁõ 10% …¶Ûé Š¸ÛÛ¦ø ¸ÛÁõ ` 500 ÈýÛÛ›÷ •Û¨ÛÛé.  
   (7) ¸Ûé¤ø¶¤ÕøÍÛ ¶ÛÛ ` 3,000 ¾ÛÛ×¦øà ÈÛÛÇÛé.  
  (ii) ¸Ûé¤øÛ¶ÛÛêµÛÛé …é¤øÅÛé ÉÛä× ? ¸Ûé¤øÛ¶ÛÛêµÛÛé ÁõÛ”ÛÈÛÛ¬Ûà ¬Û©ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé. ¸Ûé¤øÛ¶ÛÛêµÛÛé ©ÛíéýÛÛÁõ 

ïõÁõ©Ûà ÈÛ”Û©Ûé ïõˆ-ïõˆ ¼ÛÛ¼Û©ÛÛé µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÉÛÛé ? 
 
  Answer any one from the following questions. Answer should be about 750 

words :   
  (i) The Trial Balance of Shri Devendra as on 31-03-2012 after preparing 

trading account is as under. Prepare final accounts from the Trial Balance 
and adjustments. 

Trial Balance of Shri Devendra as on 31-03-2012. 
Amount Amount Debit Balances 

` 
Credit Balances 

` 
Drawings 9,000 Capital 1,00,000 
Contribution to Provident 
fund 

  
3,000 

Provident Fund 
Interest on investments 

47,000 

Investment of Provident 
Fund 

  
40,000 

of Provident fund 
Suppliers 

4,000 
45,000 

Stock of Goods                
(31-03-2012) 

65,000 Discount received 
Provision for bad debts 

500 
2,500 

Furniture and Fixtures 15,000 Trading A/c. 71,100 
Patents 60,000   
Customers 70,360   
Discount allowed 400   
Stationery expenses 100   
General expenses 1,000   
Salary 6,000   
Bad debts 240   
 2,70,100  2,70,100 

   Adjustments : 
   (1) Stock of Stationery ` 50 as on 31-03-2012. 
   (2) Personal cupboard of ` 5,000 is brought in the business on 1-10-2011 

which is not recorded. 
   (3) Write off ` 360 from debtors and provide 5% bad debt reserve. 
   (4) Calculate 10% depreciation on furniture.  
   (5) Personal expenses of ` 200 are debited to general expenses. 
   (6) Calculate 10% interest on capital and charge interest on drawings of      

` 500. 
   (7) Write off Patents of ` 3,000. 
  (ii) What is meant by subsidiary books ? State the advantages of preparing 

subsidiary books. What things will you keep in mind while preparing 
subsidiary books ? 



DK-102 3 P.T.O.  

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé ƒ 4 

  (1) ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé.  
  (2) ¶ÛÛ¾Ûä× ÅÛ”ÛÈÛÛ¶Ûà ¸Û±ùÜ©Û…Ûé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  
  (3) ¶Ûà˜Ûé¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ¸ÛÁõ¬Ûà ËÛà ¶ÛÛÁõÛýÛ¨Û¶ÛÛ ˜ÛÛé¸Û¦éø ”ÛÁõàþù¶ÛÛêµÛ …¶Ûé ”ÛÁõàþù ¸ÛÁõ©Û ¶ÛÛêµÛ 

©ÛíéýÛÛÁõ ïõÁõÛé :  
  2011  
Ü¦øÍÛé¾¼ÛÁõ 1 ` 4,000 ¶ÛÛé ¾ÛÛÅÛ 5% ÈÛé¸ÛÛÁõà ÈÛ¤øÛÈÛé ”ÛÁõà²Ûé.  

5 ËÛà ïéõÉÛÈÛ ¸ÛÛÍÛé¬Ûà ` 6,000 ¶ÛÛé ¾ÛÛÅÛ ”ÛÁõà²Ûé. ÉÛÛ”Û¶ÛÛé ÍÛ¾ÛýÛ 1 ¾ÛÛÍÛ, ÈÛé¸ÛÛÁõà 
ÈÛ¤øÛÈÛ 10% Ü¼ÛÅÛ ¶Û×. 111. 

10 ` 5,000 ¶ÛÛé ¾ÛÛÅÛ ËÛà ¶ÛÛ¬Ûœ÷ ¸ÛÛÍÛé¬Ûà ÉÛÛ”Û ¸ÛÁõ ”ÛÁõà²Ûé …¶Ûé ¼ ½ÛÛ•Û¶ÛÛ 
¶ÛÛ¨ÛÛ× ¸ÛÁõ©Û ›÷ ˜ÛæïõÈÛà …Û¸ýÛÛ.  

14 ËÛà ïéõÉÛÈÛ ¸ÛÛÍÛé¬Ûà ”ÛÁõàþéùÅÛ ¾ÛÛÅÛ¾ÛÛ×¬Ûà 1/3 ½ÛÛ•Û¶ÛÛé ¾ÛÛÅÛ ¸ÛÁõ©Û ïõÁõà þùàµÛÛé. 
¾ÛÛÅÛ¶Ûà ÍÛÛ¬Ûé ýÛÛé•ýÛ Áõïõ¾Û¶Ûà ŠµÛÛÁõ Ü˜Ûdà ¶Û×. 06 ¾ÛÛéïõÅÛà …Û¸Ûà.  

20 ËÛà Áõ¨Û™öÛé¦øÁõÛýÛ ¸ÛÛÍÛé¬Ûà ` 10,000 ¶ÛÛé ¾ÛÛÅÛ 10% ÈÛé¸ÛÛÁõà ÈÛ¤øÛÈÛé ”ÛÁõà²Ûé. ËÛà 
Áõ¨Û™öÛé¦øÁõÛýÛé 5% ÈÛé˜ÛÛ¨ÛÈÛéÁõÛé …¶Ûé ¾Û›æ÷Áõà¶ÛÛ ` 100 ˜Û§øÛÈÛà¶Ûé Ü¼ÛÅÛ¶Û×. 121 
¾ÛÛéïõÅÛà …Û¸ýÛä×.  

24 ËÛà ÁõÛ¾Û ¸ÛÛÍÛé¬Ûà ` 30,000 ¶ÛÛé ¾ÛÛÅÛ ÉÛÛ”Û ¸ÛÁõ ”ÛÁõà²Ûé. ÉÛÛ”Û¶Ûà ¾Ûäþù©Û 2 
¾ÛÛÍÛ, ÈÛé¸ÛÛÁõà ÈÛ¤øÛÈÛ 10%, Ü¼ÛÅÛ ¶Û×. 151. 

30 ËÛà ÁõÛ¾Û ¸ÛÛÍÛé¬Ûà ”ÛÁõàþéùÅÛ ¾ÛÛÅÛ¾ÛÛ×¬Ûà 50% ¾ÛÛÅÛ ¸ÛÁõ©Û ïõÁõà þùàµÛÛé …¶Ûé ¾ÛÛÅÛ¶Ûà 
ÍÛÛ¬Ûé ŠµÛÛÁõ Ü˜Ûdøà ¶Û×. 09 ¾ÛÛéïõÅÛà …Û¸Ûà.  

 
  Answer any one from the following questions. Answer should be about 125 

words.   
  (1) Explain the importance of Accounting Standards. 
  (2) Explain in short of Methods of Accounting. 
  (3) From the following transactions, prepare Purchase Book and Purchase 

Returns Book in the books of Shri Narayan. 
  2011  

Dec. 1 Purchased goods of ` 4,000 at 5% trade discount. 
5 Purchased goods of ` 6,000 from Shri Keshav on one month’s 

credit at 10% trade discount under bill No. 111. 
10 Purchased goods of ` 5,000 from Shri Nathaji on credit and paid 

1/4th of the amount immediately. 
14 Returned 1/3rd of goods purchased from Shri Keshav. Sent Debit 

Note No. 06 for the amount of goods. 
20 Purchased goods of ` 10,000 from Shri Ranchhodray at 10% Trade 

discount. Shri Ranchhodray charged 5% sales tax, ` 100 for 
carriage and sent bill No. 121. 

24 Purchased goods of ` 30,000 on credit from Shri Rama. Credit 
period – 2 months; Trade discount – 10%, Bill No. 151. 

30 Returned 50% of the goods, purchased from Shri Rama and sent 
Debit Note No. 09, for the amount thereof.  
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2. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé.  6 
  (1) ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé¶ÛÛé …¬ÛÙ Í¸ÛÌ¤ø ïõÁõà, ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé¶ÛÛ× ÜÈÛÉÅÛéÌÛ¨Û¶Ûà ¸Û±ùÜ©Û…Ûé 

›÷¨ÛÛÈÛÛé.  
  (2) ÉýÛÛ¾Û …¶Ûé ÍÛä×þùÁõ …éïõ ¸Ûé§øà¶ÛÛ ½ÛÛ•ÛàþùÛÁõÛé ™öé. ©Ûé…Ûé¶Ûà ¾Ûæ¦øà¶Ûä× ¸Ûó¾ÛÛ¨Û 5 : 4 ™öé. ÍÛä×þùÁõ¶Ûé 

©Ûé¶Ûä× ïõÜ¾ÛÉÛ¶Û ¼ÛÛþù ïõýÛÛÙ ¸Û™öà¶ÛÛ ˜ÛÛé””ÛÛ ¶ÛºõÛ ¸ÛÁõ 5% ïõÜ¾ÛÉÛ¶Û …Û¸ÛÈÛÛ¶Ûä× ™öé. ›Ûé 
ÈÛÌÛÙ¶ÛÛ …×©Ûé ¸Ûé§øà¶ÛÛé ¶ÛºõÛé ` 62,580, ÐüÛéýÛ, ©ÛÛé ÍÛä×þùÁõ¶Ûé ïäõÅÛ ïéõ¤øÅÛà Áõïõ¾Û ¾ÛÇÉÛé ? 

  (3) ¼ÛóÓÛ, ÜÈÛÌ¨Ûä …¶Ûé ¾ÛÐéüÉÛ …éïõ ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛ ½ÛÛ•ÛÛéþùÛÁõÛé ™öé. ©Ûé…Ûé¶Ûà ¸Ûé§øà¾ÛÛ× ¶ÛºõÛ-
¶ÛäïõÍÛÛ¶Û¶Ûà ÈÛÐêü˜Û¨Ûà¶Ûä× ¸Ûó¾ÛÛ¨Û 3 : 2 : 1¶Ûä× ™öé. ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛ ˜ÛÛé¸Û¦éø ¸ÛÛ–Û¦øà”ÛÛ©Ûä× 
þùÉÛÛÙÈÛéÅÛ ¶Û¬Ûà. ¼ÛµÛÛ ›÷ ½ÛÛ•ÛàþùÛÁõÛé…é ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û¶Ûà ºõÛÇÈÛ¨Ûà¶Ûä× ¸Ûó¾ÛÛ¨Û ¼ÛþùÅÛà¶Ûé 
½ÛÜÈÛÌýÛ¾ÛÛ× 1 : 1 : 1 ïõÁõÈÛÛ¶Ûä× ¶Û‘õà ïõýÛäÚ ©Û¬ÛÛ ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶Ûà ¸ÛÛ–Û¦øà¶Ûä× ¾ÛæÅýÛ        
` 30,000 ¶Û‘õà ïõýÛäÚ.  

   ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ þùÁéõïõ ÍÛ×›Ûé•Û ¾ÛÛ¤éø ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛ ˜ÛÛé¸Û¦éø ›÷ÄõÁõà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé : 
   (i) šýÛÛÁéõ ¸ÛÛ–Û¦øà¶Ûà ¸ÛæÁõà Áõïõ¾Û ¸Ûé§øà¶ÛÛ ˜ÛÛé¸Û¦éø þùÉÛÛÙÈÛÈÛÛ¶Ûà ÐüÛéýÛ ©ýÛÛÁéõ  
   (ii) šýÛÛÁéõ ¸ÛÛ–Û¦øà¶Ûà Áõïõ¾Û (¸ÛÛ–Û¦øà ”ÛÛ©Ûä×) ˜ÛÛé¸Û¦éø þùÉÛÛÙÈÛÈÛÛ¶Ûà ¶Û ÐüÛéýÛ ©ýÛÛÁéõ.  
  Answer any two from the following questions. Answer should be about 100 

words.   
  (1) Explain the meaning of Financial Statements and state the methods of 

Financial Statements analysis. 
  (2) Shyam and Sundar are partners in a firm. The proportion of their capitals is 

5 : 4. Sundar is to be given 5% commission on profit after deducting his 
commission. If the profit of the firm at the end of the year is ` 62,580, what 
total amount should Sundar get ? 

  (3) Brahma, Vishnu and Mahesh are partners of a partnership firm. Their profit 
and loss sharing ratio is 3 : 2 : 1. No goodwill account is shown in the 
books of the firm. All partners are agreed to change their profit and loss 
ratio and to keep the same at 1 : 1 : 1 in the future and value of goodwill is 
determined at ` 30,000. 

    Pass the necessary Journal Entries in the books of a firm for the 
following options : 

   (i) When the total value of goodwill is to be disclosed. 
   (ii) When the goodwill value (goodwill account) is not to be shown. 
 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé  ƒ 8 
  (1) ¶ÛÁéõ¶®ù …¶Ûé ½Ûæ¸Ûé¶®ù ¾Ûæ¦øà¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û ÈÛÐêü˜Û©ÛÛ …éïõ ¸Ûé§øà¶ÛÛ ½ÛÛ•ÛàþùÛÁõÛé 

™öé. ©ÛÛ. 1-4-2010 ¶ÛÛ ÁõÛé›÷ ¸Ûé§øà¶Ûà ïäõÅÛ ¾Ûæ¦øà ` 2,00,000 ™öé, ›÷é ¶ÛÁéõ¶®ù …¶Ûé ½Ûæ¸Ûé¶®ù 
ÈÛ˜˜Ûé 3 : 2 ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ™öé. ©Ûé…Ûé¶ÛÛé ïäõÅÛ Š¸ÛÛ¦ø ` 40,000 ™öé. ›÷é 2 : 3 ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× 
™öé. Š¸ÛÛ¦ø¶Ûä× ïäõÅÛ ÈýÛÛ›÷ ` 4,800 ¶ÛÁéõ¶®ù …¶Ûé ½Ûæ¸Ûé¶®ù ÈÛ˜˜Ûé ©Ûé¾Û¨Ûé ïõÁéõÅÛÛ Š¸ÛÛ¦ø¶ÛÛ 
¸Ûó¾ÛÛ¨Û¾ÛÛ× ºõÛÇÈÛÈÛÛ¶Ûä× ™öé. ½ÛÛ•ÛàþùÛÁõÛé¶Ûé ¾Ûæ¦øà ¸ÛÁõ 12% ÅÛé”Ûé ÈýÛÛ›÷ …Û¸ÛÈÛÛ¶Ûä× ™öé. 
½Ûæ¸Ûé¶®ù¶Ûé ˜ÛÛé””ÛÛ ¶ÛºõÛ ¸ÛÁõ 10% ïõÜ¾ÛÉÛ¶Û …Û¸ÛÈÛÛ¶Ûä× ™öé. ¶ÛºõÛé ¶Û ¬ÛýÛÛé ÐüÛéýÛ ©ÛÛé ©Ûé ÈÛÌÛë 
ïõÜ¾ÛÉÛ¶Û¶ÛÛ ¼ÛþùÅÛé ¸Û•ÛÛÁõ ¸Ûé¤éø ¾ÛÛÜÍÛïõ ` 1,600 …Û¸ÛÈÛÛ¶ÛÛ ™öé.  

    Š¸ÛÁõ¶ÛÛ ÐüÈÛÛÅÛÛ µýÛÛ¶Û¾ÛÛ× ÅÛàµÛÛ ÜÍÛÈÛÛýÛ ©ÛÛ. 31-03-2011 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ 
ÈÛÌÛÙ¶Ûà ¸Ûé§øà¶Ûà ïäõÅÛ ”ÛÛé¤ø ` 80,000 ™öé.  

    Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ¸Ûé§øà¶Ûä× ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ºõÛÇÈÛ¨Ûà ”ÛÛ©Ûä× ©Û¬ÛÛ ½ÛÛ•ÛàþùÛÁõÛé¶ÛÛ× 
¾Ûæ¦øà”ÛÛ©ÛÛ× ©ÛíéýÛÛÁõ ïõÁõÛé.  

  (2) ÉÛéÁõ¾Ûæ¦øà …é¤øÅÛé ÉÛä× ? ÉÛéÁõ¾Ûæ¦øà¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛà, ÉÛéÁõ¶Ûä× ÈÛµÛÛÁéõ ½ÛÁõ¨Ûä× ïéõ …Ûé™ä×ö ½ÛÁõ¨Ûä× 
ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ©Ûé¶Ûà ÜÈÛ•Û©Ûé ÍÛ¾Û›÷ …Û¸ÛÛé.  
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  Answer any one from the following questions. Answer should be about 500 
words.   

  (1) Narendra and Bhupendra are partners of a firm distributing profits and 
losses in the proportion of their capital. On 1-4-2010 the total capital of the 
firm is ` 2,00,000 which was in the proportion of 3 : 2 between Narendra 
and Bhupendra. Their total drawings were ` 40,000, which is proportion of 
2 : 3. Total interest on drawings of ` 4,800 is to be distributed between 
Narendra and Bhupendra in the proportion of their drawings. Partners are 
to be allowed interest on capital at 12% p.a. 

    Bhupendra is to be given 10% commission on the net profit. The year 
in which there is no profit, he is to be given ` 1,600 p.m. as salary instead 
of commission. 

    Before considering above adjustments, total loss of the firm for the 
year ended on 31-03-2011 is ` 80,000. 

    On the basis of above particulars, prepare profit and loss 
appropriation account of the firm and partners’ capital accounts. 

 
  (2) What do you mean by Share Capital ? State the types of Share Capital and 

explain in details about, under subscription and over subscription of shares. 
 
3. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé  ƒ 10 

  (1) ËÛà ÜïõÉÛ¶Û¶ÛÛé ÁõÛéïõ¦ø¾ÛéÇ ©ÛÛ. 31-07-2011 ¶ÛÛ ÁõÛé›÷ ` 12,000 ¶ÛÛé ¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø 
þùÉÛÛÙÈÛé ™öé. ›÷é ¸ÛÛÍÛ¼Ûäïõ ¸Ûó¾ÛÛ¨Ûé¶Ûà ¼Ûêïõ¶Ûà ¼ÛÛïõà ïõÁõ©ÛÛ× ›ä÷þùÛé …ÛÈÛé ™öé. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà 
¸ÛÁõ¬Ûà ËÛà ÜïõÉÛ¶Û¶ÛÛé ¼Ûêïõ ÜÍÛÅÛïõ¾ÛéÇ ¼Û¶ÛÛÈÛÛé …¶Ûé ÁõÛéïõ¦ø¾ÛéÇ ¾Ûä›÷¼Û¶Ûà ¼Ûêïõ¶Ûà ”ÛÁõà ¼ÛÛïõà 
ÉÛÛéµÛÛé.  

  
2011  
›ä÷ÅÛÛˆ 1 ½ÛÁéõÅÛ ¸ÛÁ×õ©Ûä ¼Ûêïõ¾ÛÛ× ›÷¾ÛÛ ¶ÛÜÐü ¬ÛýÛéÅÛ ˜Ûéïõ ` 14,000  
 " 5 ÅÛ”ÛéÅÛ …¶Ûé ¼Ûêïéõ ¶ÛÛêµÛéÅÛ, ¸ÛÁ×õ©Ûä ÁõÛéïõ¦ø¾ÛéÇ¾ÛÛ× ¶ÛÛêµÛÈÛÛ¶ÛÛé ÁõÐüà •ÛýÛéÅÛ ˜Ûéïõ 

` 3,000.  
 " 8 ¼Ûêïõ¾ÛÛ× ½ÛÁéõÅÛ …¶Ûé ›÷¾ÛÛ ¬ÛýÛéÅÛ ¸ÛÁ×õ©Ûä ÁõÛéïõ¦ø¾ÛéÇ¾ÛÛ× ¶ÛÜÐü ¶ÛÛêµÛéÅÛ ˜Ûéïõ ` 8,000. 
 " 10 ÅÛ”ÛéÅÛ ¸ÛÁ×õ©Ûä ¼Ûêïõ¾ÛÛ× Áõ›æ÷ ¶ÛÜÐü ¬ÛýÛéÅÛ ˜Ûéïõ ` 6,000.  
 " 12 ¼Ûêïéõ ŠµÛÛÁéõÅÛ …ÛéÈÛÁõ¦ÖøÛ¹¤ø¶Ûä× ÈýÛÛ›÷ ` 150, ›÷é ÁõÛéïõ¦ø¾ÛéÇ¾ÛÛ× ¶ÛÛêµÛÛýÛéÅÛ ¶Û¬Ûà.  
 " 15 ` 500 ¶ÛÛé ˜Ûéïõ ïéõ ›÷é …ÛÜþù©ýÛ¶Ûé …Û¸ýÛÛé Ðü©ÛÛé, ©Ûé ÁõÛéïõ¦ø¾ÛéÇ¾ÛÛ× ½ÛæÅÛ¬Ûà  

` 5,000 ©ÛÁõàïéõ ¶ÛÛêµÛÛýÛÛé Ðü©ÛÛé.  
 " 21 ¼Ûêïõ¾ÛÛ× ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà ¶ÛïõÛÁõÛˆ ` 4,000. ¼Ûêïéõ ¶ÛïõÁõÛ¾Û¨Ûà ”Û˜ÛÙ ` 40 ÍÛÛ¬Ûé¶Ûà 

Áõïõ¾Û ¶ÛÛêµÛà ™öé. ÁõÛéïõ¦ø¾ÛéÇ¾ÛÛ× ¶ÛïõÁõÛ¾Û¨Ûà¶Ûà ¶ÛÛêµÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà ¶Û¬Ûà.  
 " 24 ÁõÛéïõ¦ø¾ÛéÇ¶Ûà …ÛýÛ ¼ÛÛ›ä÷¶ÛÛé ÍÛÁõÈÛÛÇÛé ` 1,200 ÈÛµÛä ÅÛéÈÛÛˆ •ÛýÛÛé ™öé.  
 " 30 ¼Ûêïéõ ËÛà ÜïõÉÛ¶Û ÈÛ©Ûà ˜ÛæïõÈÛéÅÛ ÈÛà¾ÛÛ-¸ÛóàÜ¾ÛýÛ¾Û ` 5,000 …¶Ûé ÈÛÍÛæÅÛ ïõÁéõÅÛ 

Ü¦øÜÈÛ¦ø¶¦ø ` 1,200.  
 
  (2) ÁõÛéïõ¦ø¾ÛéÇ¶ÛÛé …¬ÛÙ Í¸ÛÌ¤ø ïõÁõà, ÁõÛéïõ¦ø¾ÛéÇ¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé¶Ûà ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 

ÁõÛéïõ¦ø¾ÛéÇ¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ÍÛ¾Û›ÛÈÛÛé.  



DK-102 6  

  Answer any one from the following questions. Answer should be about 750 
words.   

  (1) On 31-07-2011 Cash book of Shri Kishna shows a Bank Overdraft of         
` 12,000, which differs from the balance shown as per Pass Book. From 
the following information, prepare a Bank reconciliation statement of      
Shri Kishan and also find out correct bank balance as per Cash Book. 

  
   2011  
July, 1 Cheques of ` 14,000 are deposited in the Bank but not credited by 

Bank. 
 " 5 Cheques of ` 3,000 are issued and recorded by Bank, but left 

unrecorded in Cash Book. 
 " 8 Cheques of ` 8,000 are deposited in and credited by  Bank, but left 

unrecorded in Cash Book. 
 " 10 Cheques of ` 6,000 are issued but not presented for payment in 

Bank. 
 " 12 Bank Overdraft interest of ` 150 which is debited by Bank is not 

recorded in Cash Book. 
 " 15 A cheque of ` 500 which was given to Aaditya, is recorded in Cash 

Book, through oversight as ` 5,000. 
 " 21 A Bill of Exchange of ` 4,000 which was discounted with the bank 

is dishonoured. Bank has recorded the amount with noting charges 
of ` 40. No record is made for this dishonour, in Cash Book. 

 " 24 Total of receipts side of a Cash Book is overcast by ` 1,200. 
 " 30 Bank has paid ` 5,000 for insurance premium and collected ` 1,200 

for dividend on behalf of Shri Kishan. 
 
  (2) Explain the meaning of Cash Book. Briefly explain various types of Cash 

Book and clarify usefulness of Cash Book. 
 
 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé ƒ 4 

  (1) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ÈýÛÈÛÐüÛÁõÛé ¸ÛÁõ¬Ûà ËÛà ÜÐü¾ÛÛÅÛýÛ ¼ÛóµÛÍÛÙ¶ÛÛ ˜ÛÛé¸Û¦øÛ¾ÛÛ× ÍÛ×ÈÛ×©Û 2068 ¾ÛÐüÛÈÛþù 
11 ¶Ûé •ÛäÂúÈÛÛÁõ 24-01-2012 ¶ÛÛ ÁõÛé›÷¶ÛÛé ÁõÛé›÷¾ÛéÇ ©ÛíéýÛÛÁõ ïõÁõÛé.  

   (i) ÐüÛ¬Û ¸ÛÁõ ÜÍÛÅÛïõ ` 20,000 …¶Ûé þéù¶ÛÛ¼Ûêïõ¶ÛÛ ˜ÛÛÅÛä ”ÛÛ©Ûé ÜÍÛÅÛïõ ` 12,000. 
   (ii) ÉÛ×ïõÁõ ¸ÛÛÍÛé¬Ûà ` 3,000 ¶ÛÛé ¾ÛÛÅÛ 5% ÈÛé¸ÛÛÁõà ÈÛ¤øÛÈÛé ”ÛÁõà²Ûé.  
   (iii) ËÛà Ü•ÛÁõ¶ÛÛÁõ ¶Ûé ` 6,000 ¶ÛÛé ¾ÛÛÅÛ 5% ÁõÛéïõ¦ø ÈÛ¤øÛÈÛé ÈÛé˜ýÛÛé, ¼ÛþùÅÛÛ¾ÛÛ× ©Ûé…Ûé 

¸ÛÛÍÛé¬Ûà ˜Ûæî©Ûé Áõïõ¾Û¶ÛÛé ˜Ûéïõ ¾ÛÆýÛÛé, ›÷é ¼Ûêïõ¾ÛÛ× ½ÛýÛÛë.  
   (iv) ¸Û•ÛÛÁõ¶ÛÛ ` 2,000 …¶Ûé þäùïõÛ¶Û½ÛÛ¦øÛ¶ÛÛ ` 3,000 ˜ÛæïõÈýÛÛ. 
   (v) ` 500 ïõÛéˆ …Û¸Ûà •ÛýÛä× ™öé, ¸Û¨Û ¶ÛÛ¾Û ýÛÛþù ¶Û¬Ûà.  
   (vi) ÁõÛéïõ¦ø ÈÛïõÁõÛé ` 15,000, ÁõÛéïõ¦ø ”ÛÁõàþùà ` 10,000. 
  (2) ©ÛºõÛÈÛ©Û ÅÛ”ÛÛé  ƒ  
   …Û¾Û¶ÛÛêµÛ …¶Ûé ÁõÛé›÷¾ÛéÇ 
  (3) ¼Ûêïõ ÜÍÛÅÛïõ¾ÛéÇ ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛÛé.  



DK-102 7 P.T.O.  

  Answer any one from the following questions. Answer should be in about 125 
words.  

  (1) From the transactions given below, prepare Rojmel of Shri Himalaya Bros. 
for Mahavad, 11, Thursday, Dt. 24-01-2012. (Samvat 2068) 

   (i) Silak (Cash Balance) on hand ` 20,000 and Balance in current 
account with Dena Bank ` 12,000. 

   (ii) Purchased goods of ` 3,000 at 5% trade discount; from Shankar. 
   (iii) Sold goods for ` 6,000 at 5% cash discount to Shri Girnar against 

which he gave a cheque in full settlement, which is deposited in the 
bank. 

   (iv) Paid salary ` 2,000 and rent of shop ` 3,000 
   (v) Somebody, name forgotten, has given ` 500. 
   (vi) Cash Sales ` 15,000, cash purchases ` 10,000. 
 

  (2) Differentiate between Journal and Rojmel. 
   
  (3) State the purposes of preparation of Bank Reconciliation statement. 
 
 
4. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé ƒ 6  

  (1) ¶ÛÛ¾ÛÛ¶ÛÛ ÜÉÛ“Û¨Û¾ÛÛ× ¸Ûè¬Û‘õÁõ¨Û ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïéõÈÛà Áõà©Ûé ïõÁõÉÛÛé ©Ûé ŠþùÛÐüÁõ¨Û …Û¸Ûà 
ÍÛ¾Û›ÛÈÛÛé.  

  (2) ‘ÜÈÛ²Û¬Ûâ…Ûé ¶ÛÛ¾ÛÛ¶ÛÛ ¾ÛæÇ©Û©ÈÛÛé¾ÛÛ× ïõÛíéÉÛÅýÛÛé ïéõÇÈÛé’ …Û ¾Ûä”ýÛ Ðéü©Ûä¶ÛÛ ïõÛéˆ¸Û¨Û ªÛ¨Û 
ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé ÅÛ”ÛÛé.  

  (3) ¶ÛÛ¾ÛÛ¶ÛÛ ÜÈÛÌÛýÛ¾ÛÛ× ÜÍÛ¾ýÛäÅÛéÉÛ¶Û ¸ÛÛ¥ø …ÛýÛÛé›÷¶Û¶Ûä× ¾ÛÐü©ÈÛ ›÷¨ÛÛÈÛÛé.  
 
  Answer any two from the following questions, in about 100 words :   
  (1) Explain with illustration, how will you apply the Analytical method in the 

teaching of Accountancy. 
  (2) ‘Students will develop skill in Elements of Accountancy.’ Write any three 

specific objectives for this main objective. 
  (3) Mention the importance of Simulation lesson plan in the subject of 

accountancy. 
 
 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 8 

  (1) …Û•Û¾Û¶Û ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ? …Û•Û¾Û¶Û ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¶ÛÛ¾ÛÛ ÜÉÛ“Û¨Û¾ÛÛ× ïéõÈÛà Áõà©Ûé 
ïõÁõÉÛÛé ©Ûé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  

  (2) ¶ÛÛ¾ÛÛ¶ÛÛ ¾ÛæÇ©Û©ÈÛÛé¶ÛÛé µÛÛéÁõ¨Û-11¶ÛÛé ïõÛéˆ …éïõ …éïõ¾Û ÅÛˆ ¶Ûà˜Ûé¶Ûà ¼ÛÛ¼Û©ÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ 
ïõÁõà, ¸ÛÛ¥ø …ÛýÛÛé›÷¶Û ¶ÛÛêµÛ ©ÛíéýÛÛÁõ ïõÁõÛé.  

   (i) ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé 
   (ii) ÉÛíé“ÛÜ¨Ûïõ ¾Ûä°ùÛ…Ûé 
   (iii) ÜÉÛ“Ûïõ¶Ûà ¸ÛóÈÛèÜ«Û 
   (iv) ¾ÛæÅýÛÛ×ïõ¶Û ïõÛýÛÙ  
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  Answer any one from the following questions, in about 500 words :  
  (1) What is Inductive Method ? Explain with illustration, how will you use the 

Inductive Method in the teaching of Accountancy. 
  (2) Prepare a lesson plan on any one unit of Std. 11th  of elements of 

Accountancy, considering the following points. 
   (i) Specific objectives 
   (ii) Teaching points 
   (iii) Teacher’s activities 
   (iv) Evaluation 
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 14 
 Answer in short of the following questions :  
 (1) ÈÛÛŠ˜ÛÁõ …é¤øÅÛé ÉÛä× ? 
  What is a voucher ? 
 

 (2) ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× …é ______  ™öé, ¸Û¨Û ______ ¶Û¬Ûà.  
  Balance Sheet is ______ but it is not ______. 
 

 (3) ÈÛé˜ÛÛ¨Û¶ÛÛêµÛ¶Ûé ¼Ûà›Û ïõýÛÛ ¶ÛÛ¾Ûé …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  What is the other name of Sales Book ? 
 

 (4) ½ÛÛ•ÛàþùÛÁõ¶ÛÛ ˜ÛÛÅÛä”ÛÛ©ÛÛ¶Ûà ________ ¼ÛÛïõà ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ¾ÛÛ× ¾Ûæ¦øà-þéùÈÛÛ× ¼ÛÛ›ä÷ þùÉÛÛÙÈÛÈÛÛ¾ÛÛ× 
…ÛÈÛé ™öé.  

  ______ Balance of Partner’s current account is shown on the liability side of the 
Balance Sheet. 

 

 (5) ¸ÛÛ–Û¦øà¶ÛÛ ¾ÛæÅýÛÛ×ïõ¶Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¼Ûé ¸ÛÜÁõ¼ÛÇÛé ›÷¨ÛÛÈÛÛé.  
  Mention two factors affecting to the valuation of Goodwill. 
 

 (6) ÉÛéÁõ›÷¸©Ûà …é¤øÅÛé ÉÛä× ?  
  What is forfeiture of shares ? 
 

 (7) ›÷¾ÛÛ”Û˜Ûâ ÈýÛÈÛÐüÛÁõ …é¤øÅÛé ÉÛä× ? 
  What is Contra Transactions ? 
 

 (8) ¼Ûêïõ ÜÍÛÅÛïõ ¾ÛéÇ ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûà ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé.  
  Mention methods of prepare a Bank Reconciliation statement. 
 

 (9) þéùÉÛà¶ÛÛ¾ÛÛ ¸Û±ùÜ©Û¾ÛÛ× ________ ”ÛÛ©Ûä× ”ÛÛéÅÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûä× ¶Û¬Ûà.  
  ______ Account is not opened under Deshi Nama System. 
 

 (10) ™æö¤øÛ ¸ÛÛ¥ø …ÛýÛÛé›÷¶Û …é¤øÅÛé ÉÛä× ? 
  What is Stray lesson plan ? 
 

 (11) Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û¶ÛÛ ¼Ûé ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  
  State two advantages of Demonstration method. 
 

 (12) “ÛéªÛïõÛýÛÙ …é¤øÅÛé ÉÛä× ? 
  What is field work ? 
 

 (13) ¶ÛÛ¾ÛÛ¶Ûà ïõˆ ÜÉÛ“Û¨Û ¸Û±ùÜ©Û¾ÛÛ× …½ýÛÛÍÛ’õ¾Û ÍÛ¾ÛýÛÍÛÁõ ¸Ûæ¨ÛÙ ïõÁõà ÉÛïõÛýÛ ™öé ?  
  In which method of Accountancy curriculum can be completed in Accountancy 

in time ? 
 

 (14) ïõÛýÛ¾Ûà Ü¾ÛÅÛïõ©ÛÛé ¸ÛÁõ –ÛÍÛÛÁõÛé _______ ¶ÛÛ ÜÍÛ±ùÛ×©Û ¾Ûä›÷¼Û ïõÛ¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  
  Fixed assets are depreciated based on the Principle of ______. 

_____________ 


